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ARITHMETIC PROGRESSIONS

Others

1. Which term of the sequence 
 is the first

negative term?

Watch Video Solution

20, 19 , 18 , 17 , ...
1

4

1

2

3

4

2. Which term of the sequence `8-6i ,7-4i ,6-2i ,.....
 is (i) purely real (ii)

purely imaginary?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ue3vHE8giToN
https://dl.doubtnut.com/l/_n69Rph3Z8VNT


3. Find the rth term of an A.P., the sum of whose first 
 terms is

Watch Video Solution

n

3n2 + 4n

4. Show that the sequence defined by 
is not an A.P.

Watch Video Solution

an = 2n2 + 1

5. Show that the sequence 

forms an A.P.

Watch Video Solution

loga, log( ), log( ), log( ),
a2

b

a3

b2

a4

b3

https://dl.doubtnut.com/l/_n69Rph3Z8VNT
https://dl.doubtnut.com/l/_DLtep1FFjZet
https://dl.doubtnut.com/l/_ng7fneyDjEri
https://dl.doubtnut.com/l/_UbpITWAm91Hs


6. The nth term of a sequence is given by 
Show that it is

an A.P. Also, find its 7th term.

Watch Video Solution

an = 2n + 7.

7. Show that the sequence 
 is an A.P.

Find its nth term.

Watch Video Solution

loga, log(ab), log(ab2), log(ab3),

8. Which term of the sequence 72, 70, 68, 66,...
 is 40?

Watch Video Solution

9. Show that the sequence is an A.P. if its nth term is linear expression
in


and in such a case the common difference is equal to the coefficient

of


n

n.

https://dl.doubtnut.com/l/_Z7F1BbmbTzom
https://dl.doubtnut.com/l/_8LRaOpPXi2jX
https://dl.doubtnut.com/l/_RQnhNOnEJuxu
https://dl.doubtnut.com/l/_ANLHcc0NoadR


Watch Video Solution

10. The nth term of a sequence is given by 
Show that it is

an A.P. Also, find its 7th term.

Watch Video Solution

an = 2n + 7.

11. The product of three numbers in A.P. is 224, and the largest number

is 
times the smallest. Find the numbers.

Watch Video Solution

7

12. The fourth power of common difference of an arithmetic

progression with integer entries is added to the product of any four

consecutive terms of it. Prove that the resulting sum is the square of an

integer.

Watch Video Solution

https://dl.doubtnut.com/l/_ANLHcc0NoadR
https://dl.doubtnut.com/l/_86SDP4tz09OD
https://dl.doubtnut.com/l/_6kPjL0xc5oBI
https://dl.doubtnut.com/l/_A0eUDGUSwHj7


13. The sum of three terms of an A.P. is 21 and the product of the first

and the third terms exceeds the second term by 6, find three terms.

Watch Video Solution

14. The internal angles of quadrilateral are in A.P. and their common

difference is . Find them.

Watch Video Solution

10∘

15. Find the sum of all natural between 250 and 1000 which are exactly

divisible by 3.

Watch Video Solution

https://dl.doubtnut.com/l/_A0eUDGUSwHj7
https://dl.doubtnut.com/l/_AxeWrtl0m9OY
https://dl.doubtnut.com/l/_X9ilTDXi3moR
https://dl.doubtnut.com/l/_BugbliTrG3Vv


16. Find the sum of first 20 terms of an A.P., in which 
terms in 7 and 


term is tow more than thrice of its 
term.

Watch Video Solution

3rd

7th 3rd

17. Find the number of terms in the series 
 the sum of

which is 300. Explain the answer.

Watch Video Solution

20, 19 , 18 ...
1

3

2

3

18. The sums of 
 terms of three arithmetical progressions are 

and 
 The first term of each unity and the common differences are 

 and 
respectively. Prove that 

Watch Video Solution

n S1, S2

S3.

1, 2 3 S1 + S3 = 2S2.

https://dl.doubtnut.com/l/_FM847k0ebP5v
https://dl.doubtnut.com/l/_1Hj4eg4f0l7G
https://dl.doubtnut.com/l/_N9wdcs0ipaMS


19. If in an A.P. the sum of 
terms is equal of 
and the sum of 
terms

is equal to 
then prove that the sum of 
terms is 

.

Watch Video Solution

m n n

m, −(m + n) (m + n)

20. The first , second and the last terms of an A.P. are 
respectively.

Prove that the sum is 
.

Watch Video Solution

a, b, c

(a + c)(b + c − 2a)

2(b − a)

21. If 
then find the value of 

Watch Video Solution

= 7,
3 + 5 + 7 + up → nterms

5 + 8 + 11 + up → 10terms
n.

22. In a factory,  workers were engaged to finish a piece of work in a

certain number of days. However, if  workers are dropped everyday,

150

4

https://dl.doubtnut.com/l/_ZwbDrqk5PfUz
https://dl.doubtnut.com/l/_cfUIvJewjDbL
https://dl.doubtnut.com/l/_LJujKWvjl8qO
https://dl.doubtnut.com/l/_edeYW6MtEViT


except the first day, it will take  more days to finish the work. Find the

number of days in which the work was to be completed.

Watch Video Solution

8

23. Prove that the sum of 
arithmetic means between two numbers in


times the single A.M. between them.

Watch Video Solution

n

n

24. If 
are in A.P., then prove that:
(a – c)^2 = 4(b^2 – ac).

Watch Video Solution

a, b, c

25. If 
are in A.P. show that either 

are in A.P., or 

Watch Video Solution

a2(b + c), b2(c + a), c2(a + b), a, b, c

ab + bc + ca = 0.

https://dl.doubtnut.com/l/_edeYW6MtEViT
https://dl.doubtnut.com/l/_82qXgptu9enL
https://dl.doubtnut.com/l/_nsltFrgWMMH8
https://dl.doubtnut.com/l/_ayV3ny43VwSj


26. If 
arithemetic means are inserted between  and 
such that the

ratio of first mean to the last mean is 
then find the value of .

Watch Video Solution

n 20 80

1: 3, n

27. Along a road lie an odd number of stones placed at intervals of 10

metres. These stones have to be assembled around the middle stone. A

person can carry only one stone at a time. A man carried the job with

one of the end stones by carrying them in succession. In carrying all the

stones he covered a distance of 3 km. Find the number of stones.

Watch Video Solution

28. A carpenter was hired to build 192 window frames. The first day he

made
 five frames and each day thereafter he made two more frames

than he made the
day before. How many days did it take him to finish

the job?

https://dl.doubtnut.com/l/_09Rn7DrMwrqQ
https://dl.doubtnut.com/l/_bmNCWdCleqtQ
https://dl.doubtnut.com/l/_PjZpurCwHzNz


Watch Video Solution

29. In a potato race 20 potatoes are placed in a line at intervals of


 with first potato 
 from the starting point. A

contestant is required to bring the potatoes back
to the starting place

one at a time. How far would he run in bringing back
all the potatoes?

Watch Video Solution

4meters 24metres

30. We know that the sum of the interior angles of a triangle is 
 .

Show that the sums of the interior angles of polygons with 

sides form an arithmetic progression. Find the sum of the interior

angles of
a 21 sided polygon.

Watch Video Solution

1800

3, 4, 5, 6

https://dl.doubtnut.com/l/_PjZpurCwHzNz
https://dl.doubtnut.com/l/_Xwl2KNEY3tA4
https://dl.doubtnut.com/l/_qbk06uQJ6KVq


31. If 
be the sum of 
term of an A.P. and 
be the sum of its

odd terms then prove that 

Watch Video Solution

S1 (2n + 1) S2

S1 : S2 = (2n + 1) : (n + 1).

32. Divide 32 into four parts which are in A.P. such that the product of

extremes is to the product of means is


Watch Video Solution

7: 15.

33. If 
are in AP, whose common difference is 
, show that


Watch Video Solution

θ1, θ2, θ3, , θn d

secθ1secθ2 + secθ2secθ3 + .... + secθn− 1secθn =
tanθn − tanθ1

sind

34. If 
 term of an A.P. is twice the 
 th term, prove that 


th terms is twice the 
th term.

(m + 1) (n + 1)

(3m + 1) (m + n + 1)

https://dl.doubtnut.com/l/_yYYmKn608zKM
https://dl.doubtnut.com/l/_oGhASItYYQbj
https://dl.doubtnut.com/l/_ksnTxowkQql9
https://dl.doubtnut.com/l/_S0bEg0ShVKvh


Watch Video Solution

35. If 
are in A.P. with common difference ,

then the sum of
 series.

is equal to 

Watch Video Solution

a1, a2, a3, , an d(whered ≠ 0)

sind(cos eca1 cos eca2 + cos eca2 cos eca3 + .... + cos ecan− 1 cos ecan)

cot a1 − cot an

36. If an A.P. is such that 
find 
.

Watch Video Solution

= ,
a4

a7

2

7
a6

a8

37. The 4th term of an A.P. is three times the first and the 7th
 term

exceeds twice the third term by four. Find the first term and the

common
difference.

Watch Video Solution

https://dl.doubtnut.com/l/_S0bEg0ShVKvh
https://dl.doubtnut.com/l/_8YE8DB2ADgtS
https://dl.doubtnut.com/l/_W6sv31gyZHNo
https://dl.doubtnut.com/l/_qHlfqwgUBQ7k


38. Find the number of terms common to the two AP's 3,7,11,15.... 407 and

2, 9 ,16.......709.

Watch Video Solution

39. the sum of terms equidistant from the beginning and end in an AP

is equal to …………. .

Watch Video Solution

40. If 
 are an A.P. of
 non-zero terms, prove that


A. 

B. 

C. 

a1, a2, a3, , an

+ + + =
1

a1a2

1

a2a3

1

an− 1an

n − 1

a1an

.
n − 1

a1an

.
n + 1

a1an

.
1 − n

a1an

https://dl.doubtnut.com/l/_qHlfqwgUBQ7k
https://dl.doubtnut.com/l/_A3PwPhqRccDw
https://dl.doubtnut.com/l/_TObGPW2AgeUZ
https://dl.doubtnut.com/l/_165LaRXyq4e4


D. 

Answer: A

Watch Video Solution

.
n

a1an

41. If 
 are in A.P., where 
 for all 
 , show that


Watch Video Solution

a1, a2, a3, , an ai > 0 i

+ + + = .
1

√a1 + √a2

1

√a2 + √a3

1

√an− 1 + √an

n − 1

√a1 + √an

42. The 
term of an A.P. is  and 
term is 
Prove that the sum of its


terms is 

Watch Video Solution

pth a qth b

(p + q) {a + b + }.
p + q

2
a − b

p − q

https://dl.doubtnut.com/l/_165LaRXyq4e4
https://dl.doubtnut.com/l/_WUi5ssmnSxLn
https://dl.doubtnut.com/l/_6CZP5UYY2Wsj


43. If 
 are the sums of 
 terms of 
 A.P. 
 whose first

terms are 
 and common differences are 


 respectively. Show that


Watch Video Solution

S1, S2, S3, Sm n m ' s

1, 2, 3, .... m

1, 3, 5, .... (2m − 1)

S1 + S2.... . + Sm = (mn + 1)
mn

2

44. Let 
be the sum of first 
terms of an A.P. with non-zero common

difference. Fine the ratio of first
 term and common difference if 

is independent of 

Watch Video Solution

Sn n

Sn1n2

Sn1

n1.

45. If there are 
 terms in A.P., then prove that the ratio of the

sum of odd terms and
the sum of even terms is 

Watch Video Solution

(2n + 1)

(n + 1) : n.

https://dl.doubtnut.com/l/_oCxDTdQtPj97
https://dl.doubtnut.com/l/_twfQI1HzIATm
https://dl.doubtnut.com/l/_OVn3DQsK4OfA
https://dl.doubtnut.com/l/_uBLQAxNFNb9p


46. The ratio of the sum of 
terms of two A.P. 
is 
 .

Find the ratio of their mth terms.

Watch Video Solution

n s (7n + 1) : (4n + 27)

47. Show that 
 are

consecutive terms of an A.P., if 
are in A.P.

Watch Video Solution

x2 + xy + y2, z2 + xz + x2, y2 + yz + z2,

x, y and z

48. If 
are in A.P., prove that:
i. 



ii. 



iii.

Watch Video Solution

a, b, c (a − c)
2

= 4(a − b)(b − c)

a2 + c2 + 4ac = 2(ab + bc + ca)

a3 + c3 + 6abc = 8b3

https://dl.doubtnut.com/l/_uBLQAxNFNb9p
https://dl.doubtnut.com/l/_1hnPWLl1ftac
https://dl.doubtnut.com/l/_z3PSKEcVgfPI


49. Find the sum of all those integers between 100 and 800 each of

which on
division by 16 leaves the remainder 7.

Watch Video Solution

50. If the sum of 
 terms of an A.P. is equal to the sum of either the

next 
 terms or the next 
 terms, then prove that

Watch Video Solution

m

n p

(m + n)( − ) = (m + p)( − ).
1

m

1

p

1

m

1

n

51. Suppose and 
 are two real numbers such that the rth mean

between and 
 is equal to the rth mean between  and 
 when 

arithmetic means are inserted between them in both the cases. Show

that


Watch Video Solution

x y

x 2y 2x y n

− = 1.
n + 1

r

y

x

https://dl.doubtnut.com/l/_LKy6AewsJ2Fc
https://dl.doubtnut.com/l/_vGfqGC0FpJUi
https://dl.doubtnut.com/l/_OOJAEIiGbOBL
https://dl.doubtnut.com/l/_uzzzevs6ngXG


52. The sum of two numbers is 
 An even number of arithmetic

means are being inserted between them and
sum exceeds their number

by 
find the number of means inserted.

Watch Video Solution

.
13

6

1.

53. The digits of a positive integer, having three digits, are in A.P. and

their sum is 15. The number obtained by reversing the digits is 594 less

than
the original number. Find the number.

Watch Video Solution

54. If 
are in A.P. and 
is the A.M. of 
is the A.M. of 


, then prove that the A.M. of 
.

Watch Video Solution

x, y, z A1 xandyandA2

yandz A1andA2isy

https://dl.doubtnut.com/l/_uzzzevs6ngXG
https://dl.doubtnut.com/l/_BK3GDdQxBoHz
https://dl.doubtnut.com/l/_85iifGjm3sgN


55. A man repays a loan of 
by paying 
 in the first month

and then increases the payment by 
every month. How long will it

take him to clear the
loan?

Watch Video Solution

Rs.3250 Rs.20

Rs.15

56. If 
 are in A.P., prove that 


are also in A.P.

Watch Video Solution

, , ,
b + c − a

a

b + c − a

b

b + c − a

c

, ,
1

a

1

b

1

c

57. If 
 are in A.P., then prove that 


are also in A.P.

Watch Video Solution

(b − c)2, (c − a)2, (a − b)2

, ,
1

b − c

1

c − a

1

a − b

58. If 
are in A.P., prove that  is also in A.P.a, b, c , , ,
1

bc

1

ca

1

ab

https://dl.doubtnut.com/l/_aUtwngFNfDG5
https://dl.doubtnut.com/l/_bTQcHM7B9Jz6
https://dl.doubtnut.com/l/_olugQOxtR8gg
https://dl.doubtnut.com/l/_UriA6OGLMgl1


Watch Video Solution

59. If 
 are in A.P., then prove that the following are also in A.P.

Prove 1/(b+c),1/(c+a),1/(a+b)`

Watch Video Solution

a2, b2, c2

60. Two cars start together in the same direction from the same place.

The
 first goes with uniform speed of 
 The second goes at a

speed of 
 in the first hour and increases the speed by 

each succeeding hour. After how many hours will the second car

overtake the
first car if both cars to non-stop?

Watch Video Solution

10km/h.

8km/h 1/2km

61. Find an A.P. in which the sum of any number of terms is always three

times the squared number of these terms.

https://dl.doubtnut.com/l/_UriA6OGLMgl1
https://dl.doubtnut.com/l/_VCISOVh3i4sX
https://dl.doubtnut.com/l/_vqpv73QHSks0
https://dl.doubtnut.com/l/_QmKIbuqUSQFX


Watch Video Solution

62. If 
are in A.P., write the value of 

Watch Video Solution

log 2, log(2x − 1), log(2x + 3) x.

63. The sums of first 
 terms of two A.P. 
 are in hte ratio 


Find the ratio of their 
terms.

Watch Video Solution

n ' s

(7n + 2) : (n + 4). 5th

64. Give first 3 terms of the sequence defined by 

Watch Video Solution

an = .
n

n2 + 1

65. Find the first four terms of the sequence whose first term is 1 and

whose 
term is obtained by subtracting 
from its nth term.(n + 1)th n

https://dl.doubtnut.com/l/_QmKIbuqUSQFX
https://dl.doubtnut.com/l/_mACP4Iq5uYaT
https://dl.doubtnut.com/l/_Fka04VrXCur2
https://dl.doubtnut.com/l/_no7Rb2x3IFas
https://dl.doubtnut.com/l/_hcQCsw6aReVk


Watch Video Solution

66. 1,4,7,10,is an A.P. whose first term is 1 and the common difference is

equal to 

Watch Video Solution

4 − 1 = 3.

67. 11, 7, 3, -1 is an A.P. whose first term is 11 and the common
difference

is equal to 

Watch Video Solution

7 − 11 = 4.

68. The nth term of a sequence is 
 is the sequence an A.P.? If so,

find its 10th term.

Watch Video Solution

3n − 2

https://dl.doubtnut.com/l/_hcQCsw6aReVk
https://dl.doubtnut.com/l/_fgO1zOT7Swbs
https://dl.doubtnut.com/l/_vAjagvhtV4jm
https://dl.doubtnut.com/l/_laGSHXIbbjV4


69. If the nth term 
of a sequence is given by 
write

down its first five terms.

Watch Video Solution

an an = n2 − n + 1

70. A sequence is defined by 
Show that the

first three terms of the sequence are zero and all other
 terms are

positive.

Watch Video Solution

an = n3 − 6n2 + 11n − 6.

71. Find the first four terms of the sequence defined by


, for all 

Watch Video Solution

a1 = 3 and an = 3an− 1 + 2 n.1.

https://dl.doubtnut.com/l/_c5wWlaPIKXX8
https://dl.doubtnut.com/l/_TYZOfKWd3OAy
https://dl.doubtnut.com/l/_SqWerVQcBIte


72. Write the first five terms in each of the following sequence:

Watch Video Solution

a1 = 1,  an = an− 1 + 2,  n > 1

73. Write the first five terms in each of the following sequence:

Watch Video Solution

a1 = 1 =  a2,  an = an− 1 + an− 2,  n > 2

74. Write the first five terms in each of the following sequence:


.

Watch Video Solution

a1 = a2 = 2,  an = an− 1 − 1,  n > 1

75. The Fibonacci sequence is defined by

 for 
 Find  for a1 = 1 = a2,  an = an− 1 + an− 2 n > 2.
an+ 1

an

https://dl.doubtnut.com/l/_Kt2pdly0qcs9
https://dl.doubtnut.com/l/_NTcW0cwr3odc
https://dl.doubtnut.com/l/_bRRhtqnXhUfu
https://dl.doubtnut.com/l/_bBwER0I3VPnP


Watch Video Solution

n = 1, 2, 3, 4, 5.

76. Show that each of the following sequences is an A.P. Also, find the

common difference and write 3 more terms in each case.

i. 


ii. 

Watch Video Solution

3,   − 1,   − 5,   − 9......

−1, 1/4, 3/2, 11/4.... .

77. Show that each of the following sequences is an A.P. Also, find the

common difference and write 3 more terms in each case.

i. 
ii. 

Watch Video Solution

√2,  3√2,  5√2,  7√2....... 9, 7, 5, 3....

https://dl.doubtnut.com/l/_bBwER0I3VPnP
https://dl.doubtnut.com/l/_PieJ0hrSkQgR
https://dl.doubtnut.com/l/_x3PDo3erYhq6


78. The nth term of a sequence is given by 
 Show

that it is not an A.P.

Watch Video Solution

an = 2n2 + n + 1.

79. Show that the sequence 9,12,15,18,... is an A.P. Find its 16th
 term and

the general term.

Watch Video Solution

80. Which term of the sequence 4,9,14,19…. is 124?

Watch Video Solution

81. How many terms are there in the sequence 

Watch Video Solution

3, 6, 9, 12, ....... 111?

https://dl.doubtnut.com/l/_GwgM9eK70tGe
https://dl.doubtnut.com/l/_Q47IgtT87hd2
https://dl.doubtnut.com/l/_2iMgY7ptBfrT
https://dl.doubtnut.com/l/_BdTFYsVHT7Di


82. Is 184 a term of the sequence 3,7,11, ... ?

Watch Video Solution

83. If pth,qth and rth terms of an A.P. are a, b, c respectively, then show

that (i) a(q-r)+b(r-p)+c(p-q)=0

Watch Video Solution

84. If pth, qth, and rth terms of an A.P. are 
 respectively, then

show that


Watch Video Solution

a, b, c,

(a − b)r + (b − c)p + (c − a)q = 0

85. Show that the sum of 
 term of an A.P. is

equal to twice the 
term.

Watch Video Solution

(m + n)thand (m − n)th

mth

https://dl.doubtnut.com/l/_fgdQ7WxgFJMj
https://dl.doubtnut.com/l/_U7jRCZhst5XR
https://dl.doubtnut.com/l/_n9ZZ6IczkP3U
https://dl.doubtnut.com/l/_rRXpbx7b1pML


86. If 
 times the 
 term of an A.P. is equal to 
 times its 
 term,

show that the 
term of the A.P. is zero.

Watch Video Solution

m mth n nth

(m + n)th

87. If the 
 term of an A.P. is 
 and the 
 term is 
 prove that its 

Watch Video Solution

pth q qth p,

nthtermis(p + q − n).

88. If the mth term of an A.P. be 
and nth term be 
then show

that its ( 
)th term is 1.

Watch Video Solution

1/n 1/m

mn

https://dl.doubtnut.com/l/_rRXpbx7b1pML
https://dl.doubtnut.com/l/_9ElmbpnhlVsx
https://dl.doubtnut.com/l/_knHqET42n3K4
https://dl.doubtnut.com/l/_XbpwQbEfgqRE


89. Determine the number of terms in the terms in the A.P. 3,7,11…407.

Also, find its 20th term from the end.

Watch Video Solution

90. How many numbers of two digits are divisible by 7?

Watch Video Solution

91. Show that there is no A.P. which consists of only distinct prime

numbers.

Watch Video Solution

92. In the arithmetic progressions 2,5,8,… upto 50 terms and 3,5,7,9…

upto
60 terms, find how many terms are identical.

Watch Video Solution

https://dl.doubtnut.com/l/_HzLyGel4fMZm
https://dl.doubtnut.com/l/_yjb42blCdL2y
https://dl.doubtnut.com/l/_4Hy1NCYYtSaJ
https://dl.doubtnut.com/l/_evEtQGIVVCfE


93. Find: 
term of the A.P. 1,4,7,10..

Watch Video Solution

10th

94. Find: nth term of the A.P. 13,8,3,-2,…

Watch Video Solution

95. Find: 18th term of the A.P. 

Watch Video Solution

√2,  3√2,  5√2..

96. Evaluate 

Watch Video Solution

(√3 − √2)
6

+ (√3 + √2)
6

.

https://dl.doubtnut.com/l/_evEtQGIVVCfE
https://dl.doubtnut.com/l/_cKlH2OfHDGLY
https://dl.doubtnut.com/l/_DahX2oaKE9Gm
https://dl.doubtnut.com/l/_0dYyM7uKne6k
https://dl.doubtnut.com/l/_KLk03rSvitZm
https://dl.doubtnut.com/l/_VpPkAeLhGiJX


97. If the sequence 
is A.P., show that 

Watch Video Solution

an am+n + am−n = 2am.

98. Which term of the A.P. 3,8,13… is 248?

Watch Video Solution

99. Which term of the A.P. 84,80,76… is 0?

Watch Video Solution

100. Which term of the A.P. 4,9,14… is 254?

Watch Video Solution

101. Is 68 as term of the A.P. 7,10,13,…?

https://dl.doubtnut.com/l/_VpPkAeLhGiJX
https://dl.doubtnut.com/l/_UifowbWStByb
https://dl.doubtnut.com/l/_KSfTLaHHO5hT
https://dl.doubtnut.com/l/_a2gaWUvGppC6
https://dl.doubtnut.com/l/_6rhvhGr0XJ3G


Watch Video Solution

102. Is 302 a term of the A.P. 3,8,13,…?

Watch Video Solution

103. Which term of the sequence 
 is the first

negative term?

Watch Video Solution

24,  23 ,  22 ,  21
1

4

1

2

3

4

104. Which term of the sequence 
 is (a)

purely real and (b). purely imaginary?

Watch Video Solution

12 + 8i,  11 + 6i,  10 + 4i, ...

105. How many terms are there in the A.P. 7,10,13,…43?

https://dl.doubtnut.com/l/_6rhvhGr0XJ3G
https://dl.doubtnut.com/l/_a5fWse7sdugB
https://dl.doubtnut.com/l/_cOBfoQZJUYCr
https://dl.doubtnut.com/l/_joxAfNrMjPv4
https://dl.doubtnut.com/l/_yOdCwBci03BF


Watch Video Solution

106. How many terms are there in the A.P.

Watch Video Solution

−1,   − ,   − , − ,  , ?
5

6

2

3

1

2

10

3

107. The first term of an AP. is 5, the common difference is 3 and the last

term is 80; find the number of terms.

Watch Video Solution

108. The 6th and 17th terms of an A.P. are 19 and 41
respectively, find the

40th term.

Watch Video Solution

https://dl.doubtnut.com/l/_yOdCwBci03BF
https://dl.doubtnut.com/l/_oEZBshlxJMnM
https://dl.doubtnut.com/l/_3fsomvij7K59
https://dl.doubtnut.com/l/_WfPn1J3yfMgS


109. If 10 times the 10th term of an A.P. is equal to 15 times
 the 15th

term, show that 25th term of the A.P. is zero.

Watch Video Solution

110. The 10th and 18th terms of an A.P. are 41 and 73
 respectively. Find

26th term.

Watch Video Solution

111. In certain A.P. the 24th term is twice the 10th
 term. Prove that the

72nd term is twice the 34th term.

Watch Video Solution

112. If the nth term of the A.P. 9,7,5,... is same as the nth term of the A.P.

15,12,9,.. find n.

https://dl.doubtnut.com/l/_BHrt2vkMdsUc
https://dl.doubtnut.com/l/_GWGML3MlQMN7
https://dl.doubtnut.com/l/_xMqxeWmpZGaq
https://dl.doubtnut.com/l/_xL2eIeXlVYmZ


Watch Video Solution

113. Find the 12th term from the end of the following arithmetic

progression: 3,5,7,9…..201

Watch Video Solution

114. Find the 12th term from the end of the following arithmetic

progression: 3,8,13……….253

Watch Video Solution

115. Find the 12th term from the end of the following arithmetic

progression: 1,4,7,10………..88

Watch Video Solution

https://dl.doubtnut.com/l/_xL2eIeXlVYmZ
https://dl.doubtnut.com/l/_U8jXxh17PxQH
https://dl.doubtnut.com/l/_gyXi39wcWp5x
https://dl.doubtnut.com/l/_3DfbNJ7utVwz


116. Find the second term and nth term of an A.P. whose 6th term
is 12

and the 8th term is 22.

Watch Video Solution

117. How many numbers of two digit are divisible by 3?

Watch Video Solution

118. An A.P. consists of 60 terms. If the first and the last terms be 7 and

125 respectively find 32nd term.

Watch Video Solution

119. The sum of 4th and 8th terms of an A.P. is 24 and
the sum of the 6th

and 10th terms is 34. Find the first
term and the common difference of

the A.P.

https://dl.doubtnut.com/l/_F1tYOGbyDypv
https://dl.doubtnut.com/l/_AI8je8Wvte06
https://dl.doubtnut.com/l/_YNkjNzDit9E9
https://dl.doubtnut.com/l/_lNohZ2oCAYzl


Watch Video Solution

120. The first and the last terms of an A.P. are 
respectively. Show

that the sum of nth term from the beginning and nth
 term from the

end is 

Watch Video Solution

a and l

a + l.

121. The sum of three numbers in A.P. is 
and their product is 8. Find

the numbers.

Watch Video Solution

−3,

122. Find the four numbers in A.P. whose sum is 20 and the sum of

whose
squares is 120.

Watch Video Solution

https://dl.doubtnut.com/l/_lNohZ2oCAYzl
https://dl.doubtnut.com/l/_g7qbAMJkSbvp
https://dl.doubtnut.com/l/_ceiAtabCHUVe
https://dl.doubtnut.com/l/_Sps2AQ5gxzYm


123. Find the four numbers in A.P., whose sum is 50 and in which the

greatest number Is 4 times the least.

Watch Video Solution

124. Find the four numbers in A.P., whose sum is 50 and in which the

greatest number Is 4 times the least.

Watch Video Solution

125. If the sum of three numbers in A.P. is 24 and their product is 440,

find the numbers.

Watch Video Solution

126. Find the sum of 20 terms of the A.P. 1,4,7,10…..

Watch Video Solution

https://dl.doubtnut.com/l/_4a32x9Jd67b8
https://dl.doubtnut.com/l/_Aj7nRXHLLtqq
https://dl.doubtnut.com/l/_5FrJk27FeDDA
https://dl.doubtnut.com/l/_l5ftsDVubI9x


127. Find the sum of the series : 

Watch Video Solution

5 + 13 + 21 + + 181.

128. Find the sum of all three digit natural numbers, which are divisible

by
7.

Watch Video Solution

129. Find the sum of all odd integers between 2 and 100 divisible by 3

Watch Video Solution

130. The sum of the first four terms of an A.P. is 56. The sum of the last

four terms is 112. If its first term is 11, then find the number of terms.

W t h Vid S l ti

https://dl.doubtnut.com/l/_l5ftsDVubI9x
https://dl.doubtnut.com/l/_cQxSO0gmx7N6
https://dl.doubtnut.com/l/_YlHBSuutfw5w
https://dl.doubtnut.com/l/_d9pAGLrnONgB
https://dl.doubtnut.com/l/_92q5TEMzJEYC


Watch Video Solution

131. If the sum of n terms of an A.P. is 
 , where p and
 q are

constants, find the common difference.

Watch Video Solution

(pn + qn2)

132. If the sum of 
terms of an A.P. is 
and its mth term is 164,

find the value of 

Watch Video Solution

n 3n2 + 5n

m.

133. Find the sum of 
 terms of the sequence

Watch Video Solution

n

(an), wherean = 5 − 6n, n ∈ N.

https://dl.doubtnut.com/l/_92q5TEMzJEYC
https://dl.doubtnut.com/l/_g2VKtrRxZphZ
https://dl.doubtnut.com/l/_ADM4nTCkLvLO
https://dl.doubtnut.com/l/_FYKnE81enXZv


134. If the 
 term of an A.P. is 
 show that

the sumof 
terms is  where 

Watch Video Solution

mth and the nthterm is ,
1

n

1

m

mn (mn + 1)
1

2
m ≠ n.

135. How many terms of the series 54,51, 48,.. be taken so that their sum

is 513? Explain the double answer

Watch Video Solution

136. solve: 

Watch Video Solution

1 + 6 + 11 + 16 + ......... + x = 148

137. The sum of the first 
 terms of an A.P. are 
respectively.

Show that 

Watch Video Solution

p, q, r a, b, c

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

https://dl.doubtnut.com/l/_GLZKQ8MucnUZ
https://dl.doubtnut.com/l/_sdZJGkOhpGvd
https://dl.doubtnut.com/l/_v1p79BzW1ElA
https://dl.doubtnut.com/l/_rtItSnx0iznJ


138. If the sum of first 
 terms of an A.P. is the same as the sum of its

first 
terms, show that the sum of its 
terms is zero.

Watch Video Solution

m

n (m + n)

139. The ratio of the sum of m and n
 terms of an A.P. is 
 Show

that the ratio of the mth and nth terms is 

Watch Video Solution

m2 : n2.

(2m − 1) : (2n − 1).

140. The interior angles of a polygon are in A.P. the smallest angle is


and the common difference is 
Find the number of sides of the

polygon.

Watch Video Solution

1200 50.

https://dl.doubtnut.com/l/_rtItSnx0iznJ
https://dl.doubtnut.com/l/_YdVnGs0Tz2fs
https://dl.doubtnut.com/l/_Qw0A7m8Oi7dL
https://dl.doubtnut.com/l/_2TTym7usAP6u


141. Prove that a sequence in an A.P., if the sum of its 
 terms is of the

form 
are constants.


(a)	an AP	

(b)	a GP	

(c)	a HP	

(d)	None of these

Watch Video Solution

n

An2 + Bn, whereA, B

142. If the first term of an A.P. is 2 and the sum of first five terms is
equal

to one fourth of the sum of the next five terms, find the sum of first
30

terms.

Watch Video Solution

143. The sum of 
terms of two arithmetic progressions are in the ratio


Find the ratio of their 12th terms.

n

(3n + 8) : (7n + 15).

https://dl.doubtnut.com/l/_MhDKkycV8Ws3
https://dl.doubtnut.com/l/_S3BhXl6zRny6
https://dl.doubtnut.com/l/_C8Rmp8uIDjPx


Watch Video Solution

144. Let 
 be the sum of first 
 terms of an A.P. What must this

progression be for the ratio 
to be independent of 

Watch Video Solution

Sk k

Skx

Sx

x?

145. Find the sum of the following arithmetic progression: 50,46,42,…

upto 10
terms.

Watch Video Solution

146. Find the sum of the following series : (i) upto 12 terms.

Watch Video Solution

1, 3, 5, 7...

https://dl.doubtnut.com/l/_C8Rmp8uIDjPx
https://dl.doubtnut.com/l/_weHkIc21K775
https://dl.doubtnut.com/l/_bnJfiIdaux6I
https://dl.doubtnut.com/l/_p2DNOpTFKPAZ


147. Find the sum of the following arithmetic progression:

to 25 terms.

Watch Video Solution

3, , 6, , ………. .
9

2

15

2

148. Find the sum of the following arithmetic progression: 41,36,31,…….to

12
terms.

Watch Video Solution

149. Find the sum of the following arithmetic
 progression:


terms.

Watch Video Solution

a + b,  a − b,  a − 3b,  
.

−−→  22

150. Find the sum of the following arithmetic progression:


terms., , ,  
..

−−→  n
x − y

x + y

3x − 2y

x + y

5x − 3y

x + y

https://dl.doubtnut.com/l/_W3x6vqqYrC8F
https://dl.doubtnut.com/l/_BvJDYn2FO9bd
https://dl.doubtnut.com/l/_U1gqJ5g9rjbA
https://dl.doubtnut.com/l/_uyvaLWW6JG37


Watch Video Solution

151. Find the sum of the following series: 

Watch Video Solution

2 + 5 + 8 + . . . . + 182

152. Find the sum of the following series: 

Watch Video Solution

101 + 99 + 97 + .... + 47

153. Find the sum of the following series:

Watch Video Solution

(a − b)2 + (a2 + b2) + (a + b)2 + ... + [(a + b)2 + 6ab]

154. Find the sum of first 
natural numbers.

W t h Vid S l ti

n

https://dl.doubtnut.com/l/_uyvaLWW6JG37
https://dl.doubtnut.com/l/_8Mr0swyrRWof
https://dl.doubtnut.com/l/_uznflZGGhGqu
https://dl.doubtnut.com/l/_Bnt6O2cIY57s
https://dl.doubtnut.com/l/_YemA3myu5jch


Watch Video Solution

155. Find the sum of all natural numbers between  and  which are

divisible by  or 

Watch Video Solution

1 100,

2 5

156. Find the sum of the first n odd numbers

Watch Video Solution

157. Find the sum of all odd numbers between 100 and 200.

Watch Video Solution

158. Show that the sum of all odd integers between  1 and 1000 which

are divisible by 3 is 83667.

https://dl.doubtnut.com/l/_YemA3myu5jch
https://dl.doubtnut.com/l/_mXGbz3ZZT6UO
https://dl.doubtnut.com/l/_HFfu032gv9uK
https://dl.doubtnut.com/l/_LslESovE9iYw
https://dl.doubtnut.com/l/_CY0165YSmS0D


Watch Video Solution

159. Find the sum of all integers between 84 and 719, which are

multiples of
5.

Watch Video Solution

160. Find the sum of all integers between 50 and 500 which are divisible

by
7.

Watch Video Solution

161. Find the sum of all even integers between 101 and 999.

Watch Video Solution

https://dl.doubtnut.com/l/_CY0165YSmS0D
https://dl.doubtnut.com/l/_x6zgtdp74xhN
https://dl.doubtnut.com/l/_jCIxdMSp1r8a
https://dl.doubtnut.com/l/_9sde7ITKwsJ9


162. Find the sum of all integers between 100 and 550, which are

divisible by
9.

Watch Video Solution

163. Find the sum of the series :


 
terms.

Watch Video Solution

3 + 5 + 7 + 6 + 9 + 12 + 9 + 13 + 17 +   → 3n

164. Solve : 

Watch Video Solution

25 + 22 + 19 + 16 + ... + x = 115

165. Solve: 

Watch Video Solution

1 + 4 + 7 + 10 + ... + x = 590.

https://dl.doubtnut.com/l/_cBqRdGNpL3d0
https://dl.doubtnut.com/l/_3nUZPRX8dthx
https://dl.doubtnut.com/l/_DfigqZXxRE2J
https://dl.doubtnut.com/l/_egnYflSCbL7I


166. How many terms are there in the A.P. whose first and fifth terms are

-14 and 2 respectively and the sum of the terms is 40?

Watch Video Solution

167. The sum of first 7 terms of an A.P. is 10 and that of next 7 terms is

17. Find the progression.

Watch Video Solution

168. The third term of an A.P. is 7 and the seventh term exceeds three

times
 the third term by 2. Find the first term, the common difference

and the sum
of first 20 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_kFR1phZ5tQ1P
https://dl.doubtnut.com/l/_Unm2NUnHr640
https://dl.doubtnut.com/l/_j8qzWSkziKau


169. The first term of an A.P.is 2 and the last term is 50. the sum of all

these terms are 442. Find the common difference.

Watch Video Solution

170. The number of terms of an A.P. is even, the sum of odd terms is 24,

of
the even terms is 30, and the last term exceeds the first by  find

the
number of terms and the series.

Watch Video Solution

10
1

2

171. If in an A.P,  and , then  is equal to

Watch Video Solution

Sn = n2p Sm = m2p Sp

172. If 12th term of an A.P. is -13 and the sum of the first four
terms is 24,

what is the sum of first 10 terms ?

https://dl.doubtnut.com/l/_KHQ0kTBeUpYo
https://dl.doubtnut.com/l/_6pFr81QXChKb
https://dl.doubtnut.com/l/_R9V1MPEIh7x4
https://dl.doubtnut.com/l/_kMOHW5V4IX8B


Watch Video Solution

173. If the 5th and 12th terms of an A.P. are 30 and
65 respectively, what

is the sum of first 20 terms?

Watch Video Solution

174. Find the sum of 
terms of an A.P. whose kth terms is 

Watch Video Solution

n 5k + 1.

175. Sum of all two digit numbers which when divided by 4 yield unity as

remainder is.

Watch Video Solution

https://dl.doubtnut.com/l/_kMOHW5V4IX8B
https://dl.doubtnut.com/l/_w1AwnBvq8Oun
https://dl.doubtnut.com/l/_6qwQdQjN8xZy
https://dl.doubtnut.com/l/_lOyycFenxEGs


176. If the sum of a certain number of terms of the AP  is 

.
Find the last term.

Watch Video Solution

25, 22, 19... 116

177. How many terms of the A.P. `
 are needed to

give the sum -25?

Watch Video Solution

−6, − ,   − 5, ...
11

2

178. In an A.P. the first term is 2 and the sum of the first five terms is
one

fourth of the next five terms. Show that 20th term is -112.

Watch Video Solution

179. If 
denotes the sum of the first 

terms of an A.P., then find the common difference.

Sn = nP + Q, whereSn

n(n − 1)

2
n

https://dl.doubtnut.com/l/_PeaEoudp6GmM
https://dl.doubtnut.com/l/_qpDnej8phfbt
https://dl.doubtnut.com/l/_LLyFp2n020HO
https://dl.doubtnut.com/l/_2i5ZeXXnA3qD


Watch Video Solution

180. The sum of 
terms of two arithmetic progressions are in the ratio


Find the ratio of their 18th terms.

Watch Video Solution

n

5n + 4: 9n + 6.

181. If 
are in A.P., find the value of 

Watch Video Solution

, k,
2

3

5

8
k.

182. If 
are in A.P. prove that: 
are in A.P.

Watch Video Solution

, ,
1

a

1

b

1

c
, ,

b + c

a

c + a

b

a + b

c

183. If a, b, c are in A.P., prove that

a2(b + c), b2(c + a), c2(a + b)  are also in A.P.

https://dl.doubtnut.com/l/_2i5ZeXXnA3qD
https://dl.doubtnut.com/l/_nYuMo3T1YVVt
https://dl.doubtnut.com/l/_3EVAHI9I9v3J
https://dl.doubtnut.com/l/_EX7kn4mxRUp9
https://dl.doubtnut.com/l/_Oe5yLBzBEKf1


Watch Video Solution

184. If 
 are in A.P, then show that: 


are in A.P.

Watch Video Solution

a, b, c

b + c − a,  c + a − b,  a + b − c

185. If 
 are in A.P, then show that: 
are

in A.P.

Watch Video Solution

a, b, c  bc − a2,  ca − b2,  ab − c2

186. If  are in  show that  are also in

.

Watch Video Solution

, ,
b + c

a

c + a

b

a + b

c
A. P . ,

1

a

1

b

1

c

A. P . (a + b + c ≠ 0)

https://dl.doubtnut.com/l/_Oe5yLBzBEKf1
https://dl.doubtnut.com/l/_2FayxIlyU7YV
https://dl.doubtnut.com/l/_OeqaNugtdzpJ
https://dl.doubtnut.com/l/_AcuLK4unagRi


187. If 
are in A.P., prove that : 
are in A.P.

Watch Video Solution

, ,
b + c

a

c + a

b

a + b

c
bc,  ca,  ab

188. If 
 are in A.P. prove that


are in A.P.

Watch Video Solution

a ( + ),  b( + ),  c( + )
1

b

1

c

1

c

1

a

1

a

1

b

a,  b,  c

189. Insert 3 arithmetic means between  and .

Watch Video Solution

3 19

190. For what value of 
 is the arithmetic mean of 

Watch Video Solution

n,  

.

an+ 1 + bn+ 1

an + bn

a and b?

https://dl.doubtnut.com/l/_PXPQZJVdO2Qz
https://dl.doubtnut.com/l/_vFjZwPonglVd
https://dl.doubtnut.com/l/_o5M9GmGtaYHu
https://dl.doubtnut.com/l/_2zA1xKM5G5zy


191. Between 1 and 31 are inserted 
arithmetic mean so that the ratio

of the 7th and 
means is 5:9. Find the value of 

Watch Video Solution

m

(m − 1)th m.

192. if the A.M. between  terms of an A.P. be equal to the

A.M.
 between  terms of the A.P., then show that 

Watch Video Solution

pth and qth

rth and sth

p + q = r + s

193. Find the A.M. between: 7 and 13

Watch Video Solution

194. Find the A.M. between: 12 and − 8

https://dl.doubtnut.com/l/_2zA1xKM5G5zy
https://dl.doubtnut.com/l/_xSQgpZ26s7qq
https://dl.doubtnut.com/l/_XgmJiPrMBuHa
https://dl.doubtnut.com/l/_LWooV5GJhrxd
https://dl.doubtnut.com/l/_xwBioFCUHCKz


Watch Video Solution

195. Find the A.M. between: 

Watch Video Solution

(x − y)and (x + y)

196. Insert 4 A.M.s between 4 and 19.

Watch Video Solution

197. Insert 7 A.M.s between 2 and 17.

Watch Video Solution

198. Insert six A.M.s between 15 and -13.

Watch Video Solution

https://dl.doubtnut.com/l/_xwBioFCUHCKz
https://dl.doubtnut.com/l/_NtuXBxIzXid5
https://dl.doubtnut.com/l/_xZV579Yhc7m0
https://dl.doubtnut.com/l/_VG5vy0jsrUyh
https://dl.doubtnut.com/l/_pNTLiUT0KrkT


199. There are 
 A.M.s between 3 and 17. The ratio of the last mean to

the first mean is
3:1. Find the value of 

Watch Video Solution

n

n.

200. Insert AMs between 7 and 71 such that  AM is 27. Also find the

number of AMs

Watch Video Solution

5th

201. If n A.Ms are inserted between two numbers, prove that the sum of

the means equidistant from the beginning and the end is constant.

Watch Video Solution

202. Insert five numbers between 8 and 26 such that the resulting

sequence is an
A.P.

https://dl.doubtnut.com/l/_ghNK9X7CCKXT
https://dl.doubtnut.com/l/_ECBcHgXQi7fH
https://dl.doubtnut.com/l/_FWV0KVhelpy0
https://dl.doubtnut.com/l/_0EGhSpGaU4iw


Watch Video Solution

203. A man saved Rs. 16500 in ten years. In each year after the first he

saved
Rs. 100 more than be did in the receding year. How many did he

save in the
first year?

Watch Video Solution

204. A man saves Rs. 32 during the first year, Rs. 36 in the second year

and
in this way he increases his savings by Rs. 4 every year. Find in what

time his saving will be Rs. 200.

Watch Video Solution

205. A man arranges to pay a debt of Rs 3600 in 40 monthly

installments which are in AP When 30 installments are paid he dies

https://dl.doubtnut.com/l/_0EGhSpGaU4iw
https://dl.doubtnut.com/l/_UQqN1DZnk1fV
https://dl.doubtnut.com/l/_LEAbix4J4tyA
https://dl.doubtnut.com/l/_aFw8AylfI67K


leaving one third of the debt unpaid Find the value of the first

installment

Watch Video Solution

206. A manufacturer of radio sets produced 600 units in the third year

and
700 units in the seventh year. Assuming that the product increases

uniformly
by a fixed number every year, find i. the production in the first

year ii.
 the total product in 7 years and iii. the product in the 10th
year.

Watch Video Solution

207. 25 trees are planted in a straight line 5 metre apart from each

other. To water them the gardener must bring water for each tree

separately from a well 10 metre from the first tree in line with the trees.

Let d be the distance we have to cover in order to water all the trees

beginning with the first if he starts from the well.Find sum of digits of d

?

https://dl.doubtnut.com/l/_aFw8AylfI67K
https://dl.doubtnut.com/l/_P0jI6323iX97
https://dl.doubtnut.com/l/_6s13sh9Wi4Un


Watch Video Solution

208. A man is employed to count Rs. 10710. He counts at the rate of Rs.

180
per minute for half an hour. After this he counts at the rate of Rs. 3

less
 every minute than the preceding minute. Find the time taken by

him to count
the entire amount.

Watch Video Solution

209. A piece of equipment cost a certain factory Rs. 600,000. If it

depreciates in value, 15% the first, 13.5% the next year, 12% the third

year,
 and so on . what will be its value at the end of10 year, all

percentages
applying to the original cost?

Watch Video Solution

https://dl.doubtnut.com/l/_6s13sh9Wi4Un
https://dl.doubtnut.com/l/_eQJnq92FOdvY
https://dl.doubtnut.com/l/_8T9X5FwHINfx


210. A farmer buys a used tractor for Rs. 12000. He pays Rs. 6000 cash

and
agrees to pay the remaining balance in annual instalments of Rs.

500 plus 12% interest
 on the unpaid amount. How much the tractor

cost him?

Watch Video Solution

211. Shamshad Ali buys a scooter for Rs. 22000. He pays Rs. 4000 cash

and
 agrees to pay the balance in annual instalments of Rs. 1000 plus

10% interest
 on the unpaid amount. How much the scooter will cost

him?

Watch Video Solution

212. the income of a person is Rs. 300,000 in the first year and he

receivers in increase of Rs. 10000 to his income per year for the next 19

years. Find the total amount, he received in 20 years.

https://dl.doubtnut.com/l/_xATkHyIx07GT
https://dl.doubtnut.com/l/_il21Gvnp6A9I
https://dl.doubtnut.com/l/_yhhZnHqwDQKo


Watch Video Solution

213. A man starts repaying a loan as first instalment
 of Rs. 100. If he

increases the instalments by Rs. 5 every month, what amount
 he will

pay in the 30th instalment?

Watch Video Solution

214. A man accepts a position with an initial salary of
 Rs. 5200 per

month. It is understood that the will receive an automatic
 increase of

Rs. 320 in the very next month and each month thereafter. Find his

salary for the tenth month
 What is his total earnings during the first

year?

Watch Video Solution

https://dl.doubtnut.com/l/_yhhZnHqwDQKo
https://dl.doubtnut.com/l/_CNvzKbQjhJZq
https://dl.doubtnut.com/l/_PAk5ohp3TQLP


215. In a cricket team tournament 16 teams participated. A sum of Rs

8000 is to be awarded among themselves as prize money. If the last

place team is awarded Rs 275 in prize money and the award increases

by the same amount for successive finishing places, how much amount

will the first place team receive?

Watch Video Solution

216. A man saved Rs. 66000 in 20 years. In each succeeding year after

the
first year he saved Rs. 200 more than what he saved in the previous

year. How
much did he save in the first year?

Watch Video Solution

217. Write the common difference of an A.P. whose nth term is 

Watch Video Solution

xn + y.

https://dl.doubtnut.com/l/_mdhTFPwY3rKb
https://dl.doubtnut.com/l/_4MIeBcyiJlR3
https://dl.doubtnut.com/l/_DzIzOa6OaEAp
https://dl.doubtnut.com/l/_VqjM78pwzugU


218. Write the common difference of an A.P. the sum of whose first

terms is 

Watch Video Solution

  n

n2 + Qn
P

2

219. If the sum of 
terms of an A.P. is 
then write its nth term.

Watch Video Solution

n 2n2 + 3n

220. If the sums of 
 terms of two arithmetic progressions are in the

ratio 
then write the ratio of their 
term.

Watch Video Solution

n

 2n + 5: 3n + 4, mth

221. Find the sum of the first n odd numbers

Watch Video Solution

https://dl.doubtnut.com/l/_VqjM78pwzugU
https://dl.doubtnut.com/l/_XmqGhwelaAMx
https://dl.doubtnut.com/l/_swpcf7HihrKX
https://dl.doubtnut.com/l/_Nh9v4mNe6FJw


222. Write the sum of first 
even natural numbers.

Watch Video Solution

n

223. Write the value of 
 for which 
 terms of the A.P.s 3,10,17. And

63,65,67. are equal.

Watch Video Solution

n nth

224. if 
 term of an A.P. is 
 term is 
 then write its 


term.

Watch Video Solution

mth n and nth m,

m + nth

225. If the sums of 
terms of two A.P.s are in ratio 
 ,

find the ratio of their 12th terms.

Watch Video Solution

n (3n + 2) : (2n + 3)

https://dl.doubtnut.com/l/_bpRe2ufyY4Ih
https://dl.doubtnut.com/l/_hHD6ERzmKyEp
https://dl.doubtnut.com/l/_5OjeVx9xBiy1
https://dl.doubtnut.com/l/_r9Ynff4TZOFK


226. If 7th and 13th terms of an A.P. be 34 and 64
respectively, then its

18th term is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

87

88

89

90

227. If the sum of p terms of an A.P. is q and the sum of q terms is p,

then the sum of  terms will be

Watch Video Solution

p + q

https://dl.doubtnut.com/l/_r9Ynff4TZOFK
https://dl.doubtnut.com/l/_mzVYyaG5OkRi
https://dl.doubtnut.com/l/_7ykzUdO7vxLi
https://dl.doubtnut.com/l/_IQTph91sCUDz


228. If the sum of 
 terms of an A.P. be 
 and its common

difference is 6, then its first term is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n 3n2 − n

2

3

1

4

229. Sum of all two digit numbers which when divided by 4 yield unity

as remainder is.

Watch Video Solution

https://dl.doubtnut.com/l/_IQTph91sCUDz
https://dl.doubtnut.com/l/_7ZVdkNilfvzF


230. There are 
 A.M.s between 3 and 17. The ratio of the last mean to

the first mean is
3:1. Find the value of 

Watch Video Solution

n

n.

231. If 
 denotes the sum of first 
 terms of an A.P. < >
 such that 


a. 
b. 
c. 
d. 

Watch Video Solution

Sn n an

= ,  then =
Sm

Sn

m2

n2

am

an

2m + 1

2n + 1

2m − 1

2n − 1

m − 1

n − 1

m + 1

n + 1

232. The first and last terms of an A.P. are 1 and 11. If the sum of its

terms is 36 then the number of terms will be

a. 
b. 
c. 
d. 7

Watch Video Solution

5 8 6

https://dl.doubtnut.com/l/_6LXfuBnoR0qC
https://dl.doubtnut.com/l/_tnECU7z8ATFI
https://dl.doubtnut.com/l/_aEtbzrI4ilgs


233. If the sum of 
terms of an A.P., is 
then which of its terms

is 164?

a. 
b. 
c. 
d. none of these

Watch Video Solution

n 3n2 + 5n

26th 27th 28th

234. If the sum of 
terms of an A.P. is 
then its nth term is


a. 
b. 
c. 
d. 

Watch Video Solution

n 2n2 + 5n,

4n − 3 3n − 4 4n + 3 3n + 4

235. If 
 are in A.P with
 common difference 

(where )
 , then the sum of
 series.


is equal to 

Watch Video Solution

a1, a2, a3, − − − , an d

d ≠ 0

sind(cos eca1 cos eca2 + cos eca2 cos eca3 + − − + cos ecan− 1 cos ecan)

cot a1 − cot an

https://dl.doubtnut.com/l/_u8akKa12BKae
https://dl.doubtnut.com/l/_8IXWJ5IfWzvk
https://dl.doubtnut.com/l/_FgWSgr6a0QTO
https://dl.doubtnut.com/l/_DDd2UWp0hJix


236. If the arithmetic progression whose common difference is nonzero

the
sum of first 
terms is equal to the sum of next 
terms. Then, find

the ratio of the sum of the 
terms to the sum of next 
terms.

Watch Video Solution

3n n

2n 2n

237. Find the four numbers in A.P., whose sum is 50 and in which the

greatest number Is 4 times the least.

Watch Video Solution

238. If 
arithmetic means are inserted between 1 and 31 such that the

ratio of
the first mean and nth mean is 3:29 then the value of 
is

a. 
b. 
c. 
d. 

Watch Video Solution

n

n

10 12 13 14

https://dl.doubtnut.com/l/_DDd2UWp0hJix
https://dl.doubtnut.com/l/_KLsy5jHso7vj
https://dl.doubtnut.com/l/_3wSNXx131W2r


239. Let  denote the sum of n terms of an AP whose first term is a. If

common difference d is given by  , then k is :

Watch Video Solution

Sn

d = Sn − kSn− 1 + Sn− 2

240. The first and last term of an A.P. are  and 
respectively. If 
 is the

sum of all the terms of the A.P. and the common difference is
given by


, then 
(a) (b) 
(c)  (d)
none of these

Watch Video Solution

a l S

l2 − a2

k − (l + a)
k = S 2S 3S

241. If the sum of first 
 even natural numbers is equal to 
 times the

sum of first 
odd natural number then 



a. 
b. 
c. 
d. 

Watch Video Solution

n k

n k =

1

n

n − 1

n

n + 1

2n

n + 1

n

https://dl.doubtnut.com/l/_iyRmD3H6S3yQ
https://dl.doubtnut.com/l/_eSP7s2KDKQcD
https://dl.doubtnut.com/l/_EVcS8JiW2WJa


242. If the first second and last term of an A.P. are 

respectively then its sum is 

a. 
b. 
c. 
d. none of these

Watch Video Solution

a,  b,  and 2a

ab

2(b − a)

ab

b − a

3ab

3(b − a)

243. If  is the sum of an AP of 'n' odd number of terms and  be the

sum of the terms of series in odd places of the same AP then  =

Watch Video Solution

S1 S2

S1

S2

244. If in an A.P,  and , then prove that  is equal

to 

Watch Video Solution

Sn = n2p Sm = m2p Sp

p3

https://dl.doubtnut.com/l/_xwNcADLTlvkU
https://dl.doubtnut.com/l/_62sl9HHo6SZ7
https://dl.doubtnut.com/l/_rJfTBudNvEhV


245. If in an A.P., the pth term is 
 term is zero then the 


term is


a. 
b. 
c. 
d. 

Watch Video Solution

q and (p + q)th

qth

−p p p + q p − q

246. The 10th common term
between the A.P.s 3,7,11,15, and 1,6,11,16,.. is

a. 
b. 
c. 
d. none of these

Watch Video Solution

191 193 211

247. If in an A.P. 
 denotes the sum

of 
terms of the A.P., then 
equals


a. 
b. 
c. 
d. 

Watch Video Solution

Sn = n2q and Sm = m2q,  where Sr

r Sq

q3

2
mnq q3 (m2 + n2)q

https://dl.doubtnut.com/l/_eaPAYi4r2mQL
https://dl.doubtnut.com/l/_XDOZbnHrVky9
https://dl.doubtnut.com/l/_cwv8QIwy1W5D


248. Let 
 denote the sum of the first 
 tem of an A.P. If 

then prove that 

Watch Video Solution

Sn n S2n = 3Sn

= 6.
S3n

Sn

https://dl.doubtnut.com/l/_byTvxJOtk2nI

